AR UT000U=X1POORKT v VML FAVNERRIT YN DAY= 1y hDTE

Py FAYNBNS FIRSIOBNT Iy NTRZERLET .

This document shows the drive and panel-cutout dimensions and the installation
an external heatsink installation for an [P00/Open-chassis drives.

[ gtiE /Mode s ]
CIMR-UOZ2x0028A~0248A
CIMR-UO4%001TA~0930A
FUJTT18XY

I ~ i I S =

A8 CIMR-UO2%0028A%Z&LET.

Dimensions of drive with external heatsink attachment
(example: CIMR-UD2%0028A)

B3/ R
W4 Enclosure panel
We | PIYFASNFEEERT R

Mounting bracket
or external heatsink attachment

W
88 &ED
(<] L) l
(@) o fo)
L W1 !
W3 | , D1‘ D7

BERRTE 53
Mounting bracket min.

orocedure for
E(mm, (in)) ATV R P8
INJTR Dimensions Screw Size
V=91
Mode W Wi | W | w2 | w3 | w4 | WO | DI | D2 | D3| o
CIMR-UD240028A
CINR-UT4#0011A
CINR-UB4s0014A | 250 | 205 | 512 | 205 | 250 | 250 | 497.5 | 260 | 100 | 120 | .
CINR-UB4£0021A | (9.84) | (8.07)((20.16)] (8.07)| (9.84) | (9.84) |(19.59)[(10.24)| (3.94) | (4.72)
CINR-UD4$002TA ,
CIMR-UD4£0034A
CINR-UD2$00424
CINR-UD2+0054A
CIMR-UD2$0068A
CINR-UDZ#0081A | 264 | 218 | 691.5| 218 | 250 | 264 [ 667.5 | 305 | 115.5| 130 | o
CINR-UD4$0040A [(10.39)] (8.58)|(27.22)| (8.58) | (9.84) |(10.39)[(26.28)|(12.01)] (4.55) | (5.12)
CINR-UD4£00524
CINR-UD4$006 54
CINR-UB40077A
CINR-UD240104A
CIMR-UD230130A | 264 | 218 | 857.5 | 218 | 250 | 264 | 833.5 | 326 | 124.5| 140 | ¢
CINR-UB4+0096A |(10.39)] (8.58) |(33.76)( (8.58) | (9.84) |(10.39)|(32.81)[(12.83) (4.90) | (5.51)
CINR-UD4#0124A
CIMR-UD2401544
CINR-UD250192A | 415 | 250 | 1052 | 250 | 415 | 415 | 1030 | 238 | 165 | 180 | .o
CINR-UB4+0156A |(16.34)| (9.84) |(41.42)| (9.84) |(16.34)|(16.34)|(40.55)| (9.31) | (6.50) | (7.09)
CIMR-UD430180A |
CINRUnedCION | 490 | 360 | 1191 | 360 | 470 | 470 |1162.5| 269 | 181 | 200 | .
gy oh 1(19.29)/(14.17){(46.89)|(14.17)|(18.50){118.50)| (45.77)|(10.59)| (7.13) | (1.87)
C seh | 695 | 560 | 1211 | 60 | 680 | 680 | 1181 | 269 | 181 | 200 | .,
ety 1(21.36)](22.05) 147.68)[(22.05)|(26.T1)|(26. 17| (46.50){(10.59) (7.13) | (1.8T)
CINR-UD4O4TTA | 1096 | 850 | 1625 | 850 | 1096 | 1096 | 1598 | 282 | 163 | 180 | .,
CINR-UD4+0590A |(43.15)|(33.46)|(63.98)|(33.46)[(43.15)[(43.15)[ (62.91)|(11.10)| (6.42) | (1.09)
R o0ashb | 1236 | 1000 | 1865 | 1000 | 1236 | 1236 | 1838 | 295 | 150 | 170 | .
IR U eas0n |(48.66)]138.311|(73.43)|(39.31)|(48.66)|(48.66) (12.36)|(11.61)] (5.91) | (5.69)
700 | 560 | 1380 | 560 | 690 | 630 | 1351 | 201 | 231 | 250
EUJTITBXY (57 56)|(22.09)](54.33)](22.09)|(27.11)|(27.17)](53.19)] (1.91) | (9.09) | (9.84)| M12
O:A to / X:0 to 9
x:A to 7 Y:0 to 9 _Dwg No. £77022706<4>-2/16



ATTACHMENT INSTALLATION

Py F AN T

ARFATOYN IRV =S BRALET.

The procedure applies to the following models.

V2ITightening Torque

J

LHNPAN

2.0~2.5[N-m]

(17,7

inl)

~22. 10 b

BEDIE/Mounting bracket

AU (HE) /Screw (Qty)

M5x 1 2 BGHERAHTFATEENIMAL (X 2)

ed

l

M5 x 12 Washer assemb
cross recessed pan head screws (2)

L

=

fon —

[ rr

(=} [

— —_

[y e -

Pt O

S—_ = —

L= —t
-—| v O —
an

= ..
2| o oo
= | ¢ o
M” o
— s
o = N :

v M~
Aul“ —
g —

P i ~

— | &'

[ 7]

o

=

o

0

_ — —

2 N~

o X

w ~ z
=

— N S
| > %.N b
£ |~ <
P [ g =
|2 EJ.HM.

~ I_|S

—~~ =

) hMmW.M

= @~ 2

[ T o

3 &-c

L

ﬁ d s

— =

X el

Lo <

= S
<C <C <C <C
—~ o<
o0 ™~ ol
= oo — —
- o O [ Res
= 22| 22
| T <C T <C
L p— o <t ©
ﬂe < < o oo
‘N oo — o
_,_I_AO oo oo
9M EE * %
~ o<t QWIS+

7 O O

oD oD

> . \

o' o'

= =

() O

Uo2x0104A0RTHBELTLET. )

CIMR-UDZ2%0104A)

TR T<EEN

BigC I MR-

(examp

(R
¥V IREQBRETRICHEALUL

M5x 1 2EGEAHTFANEBNNML (X2)

€.

L

>
[
=
(o]
~—
| =
“_VLUIN =
bt (
R =
L
—
Qo
=
o
()
.
[
(g
=
-
<~
=
- |.|.H
L
el A
e e
g
) =
L -
— ~— —
(e Bl w
_— v =
v O QO -
S S 1|,
O O
so=
= : o
° o S
~N— D D~
— O L Q| <
& =
- o RN
v =
o o
= o o

AULLRR VULV

4%%%?

ZTLEE,

CfHFE

&l

o

2 TTH
uded in

(

////////////

//

RUA (M6 X1 0BESEAHTFARNEENMIL )
RUA (M6 X1 AEGEAH+FRTEBNIVIL )

PO ERURERLFEN

p

Screw A (M6 x 10 Washer assembled
Screws A will be replaced by screws
included in the package.

cross recessed pan head screws)
Screw A (M6 x 14 Washer assembled

cross recessed pan head screws)

Note 1

M6 x 12 Washer assembled cross recessed pan head screws:CIMR-UD2%0042A~0081A, CIMR-UD4%0040A~007TA
M6 x 1 4BSEAH+FREERANIMIL : C IMR-UDZ2*0104A~0130A, CIMR-UO4%x0096A~0124A

M6X12%@@%&+?ﬁﬁ%ﬁ&¢mb:€IMR-UDZ*0042A~OO81A,ClMR-UD4*OO4OA~OO77A

31/ Note 1

KRUA) Z5L. BRI

heatsink attachment on

N
—IARBOEERTTE (
the external

owing figure.

(

and reattach it using screws A as shown in
(

the package.Remove the mounting bracket
the fo

the top of the drive with screws inc

Py FAINGE—
YNUDJZAAIY
(

Insta
(
M5 x 12 Washer

@

assembled cross recessed
pan head screws (2)

M5X 1 2 EGHEAH

TFRNEBNIMEL (X2)

EDTE

Mounting

g

W

M6 x 14 Washer assembled cross recessed pan head screws:CIMR-UD2%0104A~0130A,CIMR-UD4%0096A~0124A

brocket



A AN AN

PANEL CUTOUT

¥/ VRIL7y NEDORREEY ( ) SHRARTY NTHFERT,
The gasket dimensions are shown in the parentheses and the shaded area.

INUTR BpA ('mm, (' in)) EXKW)U‘J".(X
) Rt Dimensions Screw Size '
Mode | Fig
CIMR-UD GO | W1 LNy [ W3y | Wy | WS | we) | CWT) | HT | CH2) | CH3Y | (HAY | (HS) | (HEY | HT |(HBY [ (HOY| A | B | C | D | E | dl | d2
2%0104A | ‘ |
2501304 85750 218 | 17 | 6 | 300 | 280 | 6 | 16 |833.5| 15 | 24.5|12.5|11.5| 230 | 212 | 6 9 | 252 | 794 | 268 | 200 | 50 | ye| ue |fio
4%0096A 110.390(33.76)1(8.58) (0,671 (0. 240117, 810(11.02) (0. 24) [ (0.63)](32. 871 (0.59)[(0.96) | (0.49)[(0.45)](9.06)|(8.35)[10.24)](0.35)|(9.92)[(31.26)1(10.55) (7.78)| (1.97) 9.
401247
2%0154A | |
2%0192A 1052 | 250 | 7350 9 | 515 | 492 | 6 | 17.5 0 1030 | 37 | 30 | 11 | 11 | 230 | 212 | 6 9 | 397 | 963 | 480 | 200 | 1.5 | o | pe |pio g
4x0156A 116.300(41.42)109 847 (2.89)1(0.35)1(20. 2801931 (0. 247 (0.69)|(40.55)| (1. 46 (1.18) | (0. 43)[(0.43)](9.06)](8.35)](0.24)|(0.35)|15.630(37.91)118.90) (7.87)| (2.93) g.
4%0180A
2*0248A 1191 | 360 | 51.5 11351 515 | 492 | 6 | 17.5 |1162.5|52.5 | 49 | 14 |[14.5] 230 | 212 | 6 9 | 463 | 1061 | 480 | 200 | 85
4%02716A - - : | e : M2 | M5 |Fig.4
dr 02 oM 19:290/(46.89)/12.17) (2.03)| (07531 |(20.28)119.37) (0. 24| (0.69) | (45.71) | (2.07)| (1.93)| (0.55)|(0.57)|(9.06) | (8.35)| 0.24) | (0.35) [18.23)(41.T1)(18.90)] (.87 |(3.35)
4x0302A 1211 | 560 | 54 [13.5] 725 | 708 | 6 | 14.5| 1181 | 61 | 59 | 15.5|14.5| 230 | 212 | 6 9 | 668 | 1067 | 696 | 200 | 104
4%0361A : - | ' 3| M2 | M5 |Fig.s
Ar O30T M 27.360/(47.68){(22.05) (2131|053 (28. 54)27.87) (0.24) | 0.5T) | (46.50) | (2.40)| (232 | (0.61) | (0.57)|(9.06) | (8.35)|0.24)|(0.35) (26 30)(41.T1)(21.40)| (.87 | (4.09)
$ECmm, Cin)) BRUY X
INJUTR Dimensions Screw Size
IS, Fig.
Mode! W) | CHY | W[ CW2) | CW3) | CW8) | W9 | W10 | H1 | CH2) | (H3) | CHA) [CH5)| H10 | HIT | H12 | A | B d1
CIMR-UD4*047TA | 1096 |1625.5| 850 | 10 | 51 | 300 | 275 |107.7] 1598 | 36.5 | 37 | 14 | 13.5 | 163 | 291 |136.5| 994 15245 o |pio e
CIMR-UDA*0590A [(43 15064 00133461 (2.83) (2 01)[(17.810110.83) (4.24) [ (62.9D) | (1. 44) [ (1. 461](0.55) [ (0.53) (6. 42){(17.46)|(5.45)((39.13)(60.02) g.
E:ugjﬁgﬁiggggﬁ 1236 | 1865 | 1000 | 67 | 51 | 440 | 280 | 102.7/1837.5| 36.5 | 37 | 14 | 13.5 [191.5| 291 | 291 | 134 | 1964 | s |
] (48 66)(73. 4301039312 640 [ (2201017, 320011020 (4.04) [ (T2.34) [ (1. 44) | (1.46)](0.55)| (0.53)| (7.54)[(11. 46211 46)l144.65)\169. 45) g.
CIMR-UDA%0930A
700 | 1380 | 560 | 60 | 10 | 240 | 160 135050 35.5 | 26 | 16 | 13.5 680 | 1289 |
EUJTUT8XY  dog 560054.3300(22.05)12. 3601 (0.39)| (9.45) | (6. 30) (5311 (1,407 (1.02)](0.63){(0.53) (26 17050 759 M1 |Fig.8

Dwg. No. £EZ27022706<4>-11/16




Fig.? | Fig.3

(W4) 12xd2 9v7 | W5
(W7) C (W7 12Xd2f°pmjg 123123 123 123
(W4) 8xd2 97 = ‘ ’ '
(W7) C (WT7) 8xd2 tapping W5 ISP | P
> /N B R TTSE, A e TS
:\E | = —~ — o) = | —lle
Lol LN o f—————4 g3 F3I H—— I
T = -_'(W6)|(W6)_' by ﬂ - - Mt 2
o =14 =3 O i - /. /ﬁﬁ ﬁ AT TR
| (R - (. r | | N z t | |
¥ I e , ; o | |
T 4 7 T j | 4 - | ! |
DR N L L
L - I r | - > | :
. . | | 1. | | ]:
] L .[ | | - .* | |
- ~ . o i e - o= o e e e -
= S S N | 4| | cw3) ! ]
(W3) Al (W3) . l | ! | |
(W2) | n | | 1 W) | | h) r | !
| | N 2 o
i : | | ! X l ~ ¥ | .
777 2 v ava ¥ . l L
| _ | 777472 FL LGOS,
4xd1 9y7 W1 £ | - |
Ixd1 topping (W) 4xd1 997 W1 z
4xd1 tapping (W)

Dwg. No. EZ7022706<4>-12/16






